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The i aceleraton depends dreclly on the.
<oehcient of frction i the coeFAcent of fricton
iereases, the avinum aceeleration wil o increse.

1£ the sceleraton icreases, with the.same. il veloty.
the distarce to come.to »step wil decrease.
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vertical direction. 3, = 0.

There fore, in ths case. the normal orce bas
the same. maguitude. 35 the. gravitatinsl orce.

them, Newdoris second law states that the sum of
the forces inthe x dvection wil be equal to the.
s of the car times the acceleration of the.
car in the "¢ directon, there ore:

Fiem. The fricion force.is the.only borizonta force.
5o the. friction force is equal to the mass of
the car tives the car's acceleration

b, The. fricion force.is equal to the normal force.
times the. coefFcient of kinetic friction
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e The.normal force. has the same magitude.
the force. of gravty

W0 Therefore, the acceleration of the ear s
L0 the coeFAcient of Fiction times the.
scceleration due to gravty
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115 on the.bottom of the eduation 5o when y increases,

D decreases 2 stated in Part B. Ao, v? is on the.top of the.
equation. 0 when v increases, so does D, as stated in Part B.





